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; 100kN/m#%#BZ % - -~ - -|3mEEBER S -~ - -| 100kN/m%#8Z % - ~ -|3mEBZ D -~ -
ZnLst 1.00 | 0.00 ~ 554 69.12 | £hs | 000 ~ 0.00) 1.62 8.21 Fns 1.00 | .00 ~ 6.30 69.12 | TN | 5,00 ~ 6.30 | 1.62 8.21
2 100kN/m% 8% % -~ - -|3mEEZ S ~ -| 100kN/ Mm% % % ~ -|3mEEZ S -~
ZnLst 1.00 | 0.00 ~ 7.09 90.01 | #hst | 000 ~ 709|183 9.25 Fns 1.00 | .00 ~ 9.00 90.01 | £hs | 500 ~ 9.00 | 1.83 9.25
3 100kN/m% 8% % -~ - -|3mEEZ S ~ -| 100kN/ Mm% % % ~ -|3mEEZ S ~
st 1.00 | 0.00 ~ 6.89 87.21 | Thbls | 000 ~ 689 1.95 9.85 Fns 1.00 | .00 ~ 9.20 87.21 | #nLS | 500 ~ 9.20 | 1.95 9.85
4 100kN/m% 8% % -~ - -|3mEEZ S ~ -| 100kN/ Mm% % % ~ -|3mEEZ S ~
st 1.00 | 0.00 ~ 7.09 90.02 | #hst | 000 ~ 000|174 8.80 Fns 1.00 | .00 ~ 890 90.02 | hs | 500 ~ 890 | 1.74 8.80
5 100kN/m% 8% % -~ - -|3mEEZ S ~ -| 100kN/ Mm% %% ~ -|3mEEZ S ~
st 1.00 | 0.00 ~ 7.37 94.02 | Fhst | 000 ~ 737\ 1.84 9.531 Fns 1.00 | .00 ~ 9.67 94.02 | Ths | 5,00 ~ 9.67 | 1.84 9.31
6 100kN/mM%#8%% | 1.00|0.00 ~ 039| 105.71 |3mEBZSD ~ -| 100kN/m%#BZ2% | 1.00 | 1063 ~ 11.67| 105.71 |3mZEBZS ~
st 1.00 1039 ~ 817 100.00 | =hs | 000 ~ 817|226 11.42 FnLs 1.00 | .00 ~ 1063 100.00 | =hLS | 5,00 ~ 11.67| 2.26 11.42
- 100kN/m##25 | 1.00 | 000 ~ 034 105.04 |3m%E#BZ 5 ~ -| 100kN/m%#BZ2% | 1.00 | 1066 ~ 1157 105.04 |3mEBZ3 ~
st 1.00 | 0.34 ~ 813 100.00 | =hs | o0oo ~ 813|227 11.47 FnLs 1.00 | .00 ~ 10.66 100.00 | =hLSt | 6,00 ~ 1157|227 11.47
P 100kN/mM%#8%% | 1.00|0.00 ~ 0.15| 10221 |3mEBZD ~ -| 100kN/m%E#z2% | 1.00 | 10567 ~ 1098 102.21 |3mZERBZD ~
st 1.00 015 ~ 794 100.00 | =hLs | 000 ~ 794|214 10.83 FnLs 1.00 | 6.00 ~ 1057 100.00 | =nLS | 5,00 ~ 1098 2.14 10.83
9 100kN/m% 8% % -~ - -|3mEEZ S ~ -| 100kN/ Mm% %% ~ -|3mEEZ S ~
ZnLst 1.00 | 000 ~ 375 47.19 | Fhs |0o0o ~ 375 2.64 12.86 FnLs 1.00 | 6.00 ~ 9.04 47.19 | RS | 5,00 ~ 9.04 | 2.64 12.86
10 100kN/m% 8% % -~ - -|3mEEZ S ~ -| 100kN/ Mm% % % ~ -|3mEEZ S ~
ZnLst 1.00 | 0.00 ~ 467 5828 | £hs | 000 ~ 467|242 12.21 FnLs 1.00 | 5.00 ~ 9.68 5828 | #nLS | 65,00 ~ 968|242 12.21
17 100kN/m% 8% % -~ - -|3mEEZ S ~ -| 100kN/ Mm% %% ~ -|3mEEZ S ~
ZnLst 1.00 | 0.00 ~ 547 68.27 | Ehds |0oo ~ 5471210 10.64 Fns 1.00 | 6.00 ~ 7.64 68.27 | TnLS | 5.00 ~ 764|210 10.64
12 100kN/mM%#8%% | 1.00|0.00 ~ 052| 107.76 |3mEBZSD ~ -| 100kN/m%E#z2% | 1.00 | 1066 ~ 1210 107.76 |3mZE#BZD ~
ZnLst 1.00 | 0.62 ~ 831 100.00 | =hs | 0oo ~ 8311227 11.47 FnLs 1.00 | .00 ~ 10.66 100.00 | =hLst | 6,00 ~ 1210| 2.27 11.47
100kN/m% 8% % ~ ImEHEZD ~ 100kN/mM##BZ % ~ ImEEBRD ~
ZFhst ~ Zhn st ~ ZzhnLs ~ Zhnst ~
100kN/mM% 8% % ~ ImERBZD ~ 100kN/m%# % % ~ ImEREZD ~
st ~ ZhnLst ~ Zzhnst ~ ZhLst ~
100kN/m% 8% % ~ ImERBZD ~ 100kN/m%# % % ~ ImEREZD ~
Zh st ~ Zzh st ~ Zh st ~ Zh st ~
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